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1101[XK1E &E 32 320 0 320 10 0 0 0 972 0 648
EE 31 465 0 465 15 0 0 0 864 0 540
=) 10 100 0 100 10 0 0 0 0 1080 0
& 253 3585 0 3585
1103[ A 35 BmE 41 410 0 410 10 0 0 0 2700 0 1296
& 41 410 0 410
1141[54R BmE 10 50 0 50 5 0 0 0 3240 0 2160
& 1 10 0 10 10 0 0 0 0 1944 0
GhH 11 60 0 60
12018 TRk 10 150 0 150 15 0 0 0 0 2484 0
RiF 100 1500 0 1500 15 0 0 0 0 2484 0
& 110 1650 0 1650
1203[F ¥Ry [EH 28 280 0 280 10 0 0 0 0 1836 0
EE 105 1050 0 1050 10 0 0 0 2052 0 1296
(&) 169 1870 0 1870
1205[[FSNAE [EE 1114 446 446 0 0.4 200 0 119 0 0 0
& 10 40 0 40 4 0 0 0 0 2376 0
& [ 300 60 0 60 0.2 0 0 0 113 0 97
GhH 1424 546 446 100
1207| B & EE 420 42 42 0 0.1 0 59 0 0 0 0
(&) 420 42 42 0
1209| 5% S 10 30 0 30 3 0 0 0 0 1728 0
(&) 19 57 0 57
1213]I25 =5 25 25 0 25 1 0 0 0 0 1026 0
(&) 25 25 0 25
1223| &% EE 360 108 108 0 0.3 130 0 119 0 0 0
GhH 410 118 108 10
1301[#aF S 15 30 0 30 2 0 0 0 1296 0 1134
= E 240 72 0 72 0.3 0 0 0 0 124 0
f=a] 100 50 0 50 05 0 0 0 0 162 0
=& 8 40 0 40 5 0 0 0 0 2268 0
Eh 363 192 0 192
1311[F<F S 75 300 0 300 4 0 0 0 1296 0 1134
Eh 75 300 0 300
1321 [ =) 90 450 0 450 5 0 0 0 2700 0 2484
=0 60 300 0 300 5 0 0 0 2700 0 2376
=i 20 100 0 100 5 0 0 0 2916 0 2700
Eh 170 850 0 850
1331 | MM FEH» (&) 35 350 0 350
1351[E—<> |55 1500 225 0 225 0.15 0 0 0 119 0 108
(&) 1550 425 0 425
1353[ Tk =0 60 6 0 6 0.1 0 0 0 0 173 0
(&) 60 6 0 6
1403| BT oL 10 20 0 20 2 0 0 0 0 2160 0
(&) 10 20 0 20
1407 | EB T F0FRLL 15 30 0 30 2 0 0 0 0 2160 0
(&) 15 30 0 30
1513[A =94  |dtiEd 510 5100 0 5100 10 0 0 0 2970 0 1404
(&) 510 5100 0 5100
1521[B % iz 2 20 0 20 10 0 0 0 0 3672 0
(&) 2 20 0 20
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1541 [E& 30 300 0 300 10 0 0 0 2700 0
785 15700 0 15700 20 0 0 3348 0 1717
GhH 815 16000 0 16000
1603 t)L)—  [E4EE 5 50 0 50 10 0 0 3888 0 2808
(&) 5 50 0 50
1607|h1257 |[#E 1 6 0 6 6 0 0 0 2484 0
GhH 1 6 0 6
1609[7 0wl [FJi 15 90 0 90 6 0 0 4536 0 3888
GhH 15 90 0 90
1611[LAR mE 5 50 0 50 10 0 0 0 3888 0
126 5 25 0 25 5 0 0 2484 0 2052
ED 10 75 0 75
1612 =L &R GhH 5 25 0 25
1627[3=Fr<F__ [FJI 180 36 0 36 0.2 0 0 0 167 0
S 6 18 0 18 3 0 0 0 1836 0
[E)) 707 154 0 154
1705| &= = E 270 22 0 22 0.08 0 0 0 108 0
(&) 270 22 0 22
1803 | EHEE BmE 150 15 0 15 0.1 0 0 0 141 0
= 120 24 0 24 0.2 0 0 260 0 66
[&0) 720 84 0 84
1807|#8H EH 30 5 0 5 0.15 0 0 0 94 0
=% 1500 300 0 300 0.2 0 0 91 0 89
Eh 1530 305 0 305
1809[L&L E% 500 50 0 50 0.1 0 0 0 67 0
EF 2610 522 0 522 0.2 0 0 112 0 105
(&) 3110 572 0 572
* S FHET * 24384 62078 1191 60887
2139|TaR> L 32 160 0 160 5 0 0 3985 0 2657
Eh 32 160 0 160
2811|& & it 20 5 0 5 0.25 0 0 0 767 0
A 80 20 0 20 0.25 0 0 0 551 0
(&) 100 25 0 25
* S FEET * 264 370 0 370




